Practice

Name
- L} - 5-5
1-Digit Quotients
In 1 through 6, find each quotient.
1. 37)120 2. 39)342 3. 62)338
4. 42)284 5. 82)599 6. 55)474
7. Solomon has $118. He wants to purchase concert tickets for

10.

himself and 5 friends. Each ticket costs $19. Does he have
enough money? Explain.

Which problem will have the greater quotient, 376.0 +~ 93 OR 376 + 93.017?
Explain how you know.

Which is 458 < 737
A 5R19 B 5R20 C 6 R19 D 6 R20
A student solves the problem 354 + 24. The student finds an answer

of 13 R40. Explain how you can tell that the answer is incorrect just
by looking at the remainder.
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